Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.12.dwg

STEVES AND SONS

203 Humble Ave.
San Antonio, TX 78225

STEVES

OPAQUE OR DIRECT GLAZED

FIBERGLASS DOOR

SINGLE w/ TRANSOM
w/ or w/out SIDELITE(S)

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind bome debris protection this product is required o be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

4. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 8 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 9 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Sidelite & Transom Panel Details 10 Vertical Cross Sections
4 Door Panel Options 11 Buck Anchoring
5 Elevations 12 Frame Anchoring & Hardware Details
6 Horizontal Cross Sections 13 Bill of Materials & Components
7 Horizontal & Vertical Cross Sections (2X Buck)

13.75" MAX. O.A.
TRANSOM

HEIGHT

I

MODERN 5 LITE

V-GROOVE

REGENCY MODERN COLLECTION

-

FRAME HEIGHT

95.25" MAX. O.A.
81.5" MAX. O.A.
FRAME HEIGHT (INSWING)

-

7

80.75" MAX. O.A.

68.5" MAX.

WIDTH

FRAME HEIGHT (OUTSWING)
o

OVERALL FRAME

CONTINUOUS HEAD & SILL

E o E":] /O

_OUTSWING

VE | NEGATIVE

37.5" x 95.25"

-45.0

000 00 0O

OXO XO OX

68.5" x 95.25"

-45.0

June 7, 2022

10
02}
10
)
%r’)
__|'\
oM
2 5w
Z0g0
. St
3 5,§‘°°'
3 Z
D yz).?
o
\ 5 8L
2 OQN - @
. © x2 9
ke
® = 2003 14
5 Eog F0Do
a £O o . cuw
3y 502§
LY oo
£ B
o C
E 6%
3 V.,
5 su
a 2o

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 3/10/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41467.12

SHEET _] oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



CORE MATERIAL: POLYURETHANE FOAM

5/32" TEMPERED GLASS (FROSTED)

12" 24"
0.5" ——] EXTERIOR ! =05
“.é_‘ 44 s . i
. - i - S oral
R e £ % S
V'Y ad ‘ F'.-
INTERIOR LATCH STILE
HINGE STILE LOCK BLOCK COMPOSITE
CONMFOSTTE 1"\ HORIZONTAL CROSS SECTION 19.75'LONG vy CAP
\2_/ GLAZED SHOWN (OPAQUE SIMILAR) (LVL)
“/ )
GLASS BITE
INTERIOR — 1" O.A. THICK GLASS
/} __— 5/32" TEMPERED GLASS (FROSTED)
GLAIING <2 " » T ARSPACE
_ 3575"MAX. DOOR COMPOUND |y ~
WIDTH =
! EXTERIOR
21" MAX. D.L.O. 35.75" MAX. DOOR - ALUMINUM SPACER
WIDTH WIDTH
4 @ GLAZING DETAIL
¢ ]
//// /:/// o
| j
< .
. %E m 7 7 = < .
xI b / / o~
T Rg il ~
o3~
2 / / X |
> R
: X ¥ ' ?
R J J LIl IS
SEE HARDWARE TABLE -
(LATCH & DEADBOLT) l
J / °
Vi Y/ o
/ 7 SEE HARDWARE TABLE -
(MULTIPOINT LOCK) Kwikser | LATCH:  SIGNATURE SERIES
DEADBOLT:  SIGNATURE SERIES (980)
LATCH: F51
2 SCHIAGE | peabsorr:  BéON
< : ) LATCH: PREMIUM HANDLESET
ROCKWELL | heADBOLT:  PREMIUM DEADBOLT
40 ) FIBERGLASS DOOR PANEL 40 ) FIBERGLASS DOOR PANEL
MODERN 5 LITE V-GROOVE PREMIUM MULTIPOINT HANDLESET
ROCKWELL w/ DEADLOCKING TONGUE
FIBERGLASS DOOR SKIN: MIN. 0.08" THK. MULTIPOINT LOCK

COMPOSITE
CAP

TOP RAIL

(LVL)

FIBERGLASS SKIN —[[r 5+

EXTERIOR

INTERIOR

@

FOAM CORE — I,

{POLYURETHANE)

I/,
%,
0,7,

[/

witliigy,

.SCH

June 7, 2022

1.2

BOTTOM RAIL _— 1=

REINFORCEMENT

0.85"

(LVL)

BOTTOM RAIL— L2l L

(COMP.)

/" 2"\ VERTICAL CROSS SECTION

\2/ GLAZED SHOWN (OPAQUE SIMILAR)

0
[¢2]
[Ie]
]
(SRl
z
___]r\
gz.“-c:n
T
Egap
R
Sges
D go.."l
\\ 5 Qg
EY oN - 0
- 0 Oy
38 o323
£ o =My
2 £o 8 cw
eEY 5928
c "9 Boai
Lo,
[~ [*]
[ Cz §
£33
g cu
a 2 e%
o
zZo ]
S0 =
i S
.
sg |5 83
w315 2o
& i =
a,% n =
Ha |2
[ Wy
o
2 o
S K
& &
>..
n
")
pd
O
2]
o
B
<
o
o
z
DATE: 3/10/22
scAE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FlL—41467.12

SHEET _2 oF 13

Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.12.dwg

© 2022 R.W. BuiLbiNnGg CONSULTANTS INC.




< T
68.5" MAX. PANEL WIDTH <9 o
08" 13.125" . =T 2
MAY. DLO 35" MAX. D.L.O. 85 .9
EXTERIOR : WIDTH -5 0"
S — WIDTH =4 Z
g .o
L E down
3 J/ J $2g°
3/ S40K / O / (O Hges
INTERIOR COMPOSITE % / ’ o\ Z2Jw 2
CAP S \ 58°E
STILE & o2
COMPOSTE s STILE REINFORCEMENT \ | L ®% oxS9
CAP (LtVi) - <O TRANSOM PANEL ®Ee Z04F
= =g & §5% 25t
/ 1"\ HORIZONTAL CROSS SECTION b kg gfe 2 32k
- oZ & .
G £ /® olisf =
gz R
‘ =18 2
TOP RAIL <] -
13.875" MAX. REINFORCEMENT ™k __} INTERIOR =
PANEL WIDTH (LVL) I ox | B
7' MAX. D.LO. o ! 58 §§
WIDTH i 39 3 &2
< FIBERGLASS 83 |3 pg
SKIN EXTERIOR E% 8 g8
5 © | &
/// 2 o
7 2l |E
/3 "\ HORIZONTAL CROSS SECTION & &
3
TN EXTERIOR ' INTERIOR N
¥/
f— 3 4 7
ia G1
o o
39 O INTERIOR o
a. = % =
ik S
: 3 :
;Q y v ';'7‘. O:I
FOAMCORE - |f -~ "~ 716" — 5/8" OVERALL GLASS THK.
e L GLASS BITE
"y 5/32" TEMPERED GLASS
Va4 GLAIING | DECORATIVE INSERT
; COMPOUND ‘\ AR SPACE Z
[o]
A BOTTIOM RAIL 1 F 5/32" TEMPERED GLASS
(V) = S S
2 - o FOAM SPACER =
{ A DATE: 3,/10,/22
composte EXTERIOR  PVC MOULDING SECURED w/ 16 GA. X 1" BRAD e NTS
] —— n 1 i
@ FIBERGLASS SIDELTE PANEL PO NAILS LOCATED 1" FROM ENDS & 3" O.C. MAX. e
GLAZING DETAIL o o _LFS
/ 2"\ VERTICAL CROSS SECTION @TRANSOM o 467 12
FIBERGLASS SKIN: 0.08" MIN. THK. N .
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.) e 3 or 13

ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.12.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



TON| SINVAIMNSNGD aNignNg "Mm's 2202 @

£186 "ON Ansibey 3dgd SNOISIAZY
L616°659°CL8 ON 8uoyd i o
ssses 15 “omaen oz xoa 0 [ SNOLLO FINVd ¥000 Ad LN N sz o] =9
'ONI SINVLTNSNOD. oNidTINg @. IENASSY 90 1uvd REEE Qs
aw! /1, <
///ﬂr& J(ZO\.Q s, 60vSH ON ‘I'd 4000 SSV 1943814 N B| & e Y 4_
N e IS0 SGee T Chbpaa SNOS % S3AILS 5l z
//W‘/ - ‘oﬁoe e, % ) o, M IARAE ﬂ m
~ . ®e D\h.:nm paindeid sjuelunsoq +10NQo¥d S8 W 5 W &

. M.\ 720 ‘L dung

4

60¥EY 'ON

Lo A &
\\\\Q\SIUG 3 /////

FULL LITE

REGENCY SIDELITE

V-GROOVE

MODERN 5 LITE

REGENCY MODERN COLLECTION

BMPZL Lo LE-14\0207) 29V Ly-T\SBumeIq - D\STIWES ADNIOTY 29vL1-14\sieaciddy 1onpoid POl - VAIUSURULIR - SUOS pUB 53A3IS\SIUBID\'Z



TON SANVYLINSNGOD aNtagTIng "My 2202 @

Loiebsonia ron seans S o
SESEE T4 ‘O2UIPA ‘0£T XO8 “O'd \Sw SNOILVA3 13 -8 AV TON o RS 2
"ONI ‘SINVLINSNOD 9NIQINg \W\M XTEN3ASSY 90 1avd S=|EF|. 95
23 NG 400Q SSV1 e g5 o]
W QL 60¥SH ‘ON ‘T'd 043814 ~ sl ¥
// ---------- 0 / . . & S g |
II//&/ .....AOEON%...%&‘\\\ PILUYDS "4 uopuky SNOS » mwahm. " M gy W 2le
. ) :10NQ0Yd 3 531515 %
™ir~] o] m o nw
; . A
O | o @ X ZW
L/
| oo
<o) || b
X /// > . X z
CES
«t| 0
o > <5
2 — o
N ~x e i
<|NHs St e (e o} X S
.
f
- 3
O e o -
/J///y
Ww
N
8l
=10
<L~
Wm 2o
il
o
Z (P
<t ==
= as
] o
<N NHs Y Av x ~] ™ " z| &
|/ all(_ oL Z
o > 21X E
o &
AN o S S S el OE
Nl N X e e i m
(o ) d
_ e e
4
QO J ®) ] & o~
418b
—_— D |
JOVWI QIHOAAIW
z
o
<
=
w
L

BmpzL L9vLy-14\0202) L9¥Ly-14\sBumes - D\SIS ADNIDIY L9¥Lp-14\s|erciddy 3onpoid epuold - Y\IUSURULS - SUOS PUB SBASIS\SIUBID\Z



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.12.dwg

SEENOITE 1

‘N
v
SEE NOTE 2
@ (TYP.) % \@ @

/"1 "\ HORIZONTAL CROSS SECTION
\6/ Outswing shown [Inswing simitar)

INTERIOR

EXTERIOR

EXTERIOR A\ INTERIOR

/ 4\ VERTICAL CROSS SECTION
W Outswing shown (Inswing similar)

SEENOTE

(19

INTERIOR

\\

I/

%

@ EXTERIOR
(a0) (3412 @

/" 2"\ HORIZONTAL CROSS SECTION
w Outswing shown {Inswing similar)

G2

SEE NOTE 2
(TYP.)

/"3 HORIZONTAL CROSS SECTION
\U Outswing shown (Inswing similar)

EXTERIOR A\ INTERIOR

/"5 "\ VERTICAL CROSS SECTION
\U Outswing shown {Inswing similar)

NOTES:
1. Sidelite assembly screws located @ 3" & 19" from
each end of mullion (4 total}.
2. Moulding secured w/ 16 GA. X 1" brad
nails located 1" from ends & 6" o.c. max.

June 7, 2022

P.O. Box 230, Valrico, FL 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

813.659.9197

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:
HORIZONTAL & VERTICAL

PRODUCT:

CROSS SECTIONS

NO. DATE

REVISIONS

oATE: 3/10/22

scaLe:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-41467.12

SHEET 6 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC,



~ Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.12.dwg

SRR NN
Tt 17

__1-1/4" MIN. RO //,,,
EMB. (TYP.) S A,
(®) S8 SO
SR "Bz B
: : S b4 A
aN =X & g 0,40 M
MO AT F
SR " -o 5 (&= om
. 0.15" C-SINK =93 2 &:05P0 555
. (TYP) Z wh, ipSz 840
4 et ,//)-.__ Q{s H$8 g
X 7 S 27wz
. : i //, D N\ n <
. v ' ,”l W g Qo o
a . 4 ”“ 5 O N - :ﬁ
o ‘ . ; e SO
° 4 RATT A LN_-[E_R.LQE g % 2 ‘g z &)
‘- a® : g. -‘38 3 . 2"“
N @ @ O = p oo
In] IS Nw D= em
: a & Bodw
< < ER
: 4s @ =~ é gzc" §
s Q15 v .
Q Ccil
a » PO ) / ’g 8 BN @
y o I Ay
4 " ~J o
N i 35
I BV om
: 0k &>
REP @ éD 28| W
) T EXTERIOR sy |3 92
1-1/4" MIN. o w2 |3 2
EMB. (TYP.) @ S0 i %g
jung PRI X771 Nm
/1" HORIZONTAL CROSS SECTION 2™\ HORIZONTAL CROSS SECTION O |3 &y
7 / Shownw/ 2XBuck 7 ] Shown w/ 2X Buck g S| £Q
QOutswing shown (Inswing similar) Outswing shown {Inswing similar) 8 £l G
& &
>.
m
pV4
Z
RE
T O
EXTERIOR INTERIOR ,“2 - ”
..... (] -
Q
/ 4\ VERTICAL CROSS SECTION G
INTERIOR Outswing shown (Inswing similar) o
-
= 5
o
. pd
e DATE: 3/10
EXTERIOR I 3/10/22
@ SEE NOTE 2 Sy ScME:  N.T.S.
NOTES: (TYP)) 0 TN ) DWG. B:  RW
1. Sidelite assembly screws located 4" from each :Eh}\ {3 4 (va;llg‘li ok B LFS
end plus 4 more equally spaced along jamb (6 tofal). . . DRAWING NO.:
2. Moulding secured w/ 16 GA. X 1" brad nails f;\ ggvﬁzgl'géﬁ CCkROSS SECTION FL—-41467.12
!OCG'fed "" ffom endS & 6" 0.C. Max. OUTS‘Ning Shown “nswing sim“ar) SHEET 7 o 13

© 2022 R.W., BuiLping CONSULTANTS ING.




Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.12.dwg

SOV

©) .

B

INTERIOR

A1 E T THT

| . ;j.ié V‘a‘
_ %D EXTERIOR
(40)

/"1 "\ HORIZONTAL CROSS SECTION

Shown w/ 1X Buck
Outswing shown {Inswing similar)

v

)
-~ )

1-1/4" MIN. o

EMSB. (TYP.)

NOTES:
1. Sidelite assembly screws located 4" from each

end plus 4 more equally spaced along jamb {6 total).
2. Moulding secured w/ 16 GA. X 1" brad nails

jocated 1" from ends & 6" 0.c. max.

1-1/4" MIN.
EMB. (TYP.)

m HORIZONTAL CROSS SECTION

8 / Shownw/ 1X Buck .
Outswing shown (Inswing similar)

SEENOTE 1

INTERIOR

A

-1 ,
EXTERIOR — Cew

(50) SEENOTE2 e

(TYP.) N

1-1/4" MIN.
EMB. (TYP.)

/~3"\ HORIZONTAL CROSS SECTION

Shown w/ 1X Buck
Outswing shown {Inswing similar)

\\\\‘

/"4 \ VERTICAL CROSS SECTION

EXTERIOR

8

Shown w/ 1X Buck

Outswing shown {Inswing similar)

2 11iiiz,
1

A
%

AL LTI &////
2 02 B
s —om
b %:2‘—2
v*k . -] N
S Q,:Z:m.“-mn
. i o
z 955 oW
.'Q\ <-803°’
oS SRR
. s J58wo
*resses S 22wz
)\\\\ 2S5
2 SR.%
5% wxg‘g’
e
PE. zZRLE
g O fa) o
a £0 s .CLIJ
~lf Ay 502§
af ¢ DDk
Qe v
-1t o
St 52
LIs v,
513 su
=18 2o

HORIZONTAL & VERTICAL
CROSS SECTIONS (1X BUCK)

28
o0
na
|9 |5
%] -
x |n
L Ga |2
[
g |z
>.
[i9)
%)
=z
o
w
|
o
Lut
<C
o
o
pd
DATE: 3/10/22
SCALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—41467.12

SHEET _8 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC,



[I¢]
023
0
]
- % L]
v ag v v (-n: ™ E '2
’/,// *tceange-*t 3 \\\ g >U :g 2
,/I], * P« \\\\ g oo
U SR .5
v 3 o gzo o)
EEs 500,
INTERIOR 269 Z2g6a
xR D= Com
Sl ¢ Bodo
Sle v
N §
.- g1 2u @<
Zao =18 2a
1y 43
o %%
EXTERIOR \ <
> e 28 | =
S | 38| E°
SRR ) ,é \d QSU) .
) 1-1/4° MIN. > o2 |3 <8
o 1-1/4"MIN. EMB. (TYP.) I — S We |3 T35
EMB. (TYP.) ; ok |a 2=
/1" HORIZONTAL CROSS SECTION /"2 "\ HORIZONTAL CROSS SECTION e .53 4 Eg
9/ Shown Direct fo Masonry \9_/ 3hown Direct fo Masorry 7 : 3 of =
Outswing shown (Inswing similar) Outswing shown (Inswing similar) § E gB
< TH
o 0.
>._
i m
Ve ‘ v M -
EXTERIOR INTERIOR
. "
SEENOTE | /4 \ VERTICAL CROSS SECTION 2
o 9 / Shown Direct fo Masonry 7
INTERIOR v Outswing shown {inswing similar) >
v (1
‘ v v
: )
SR 7 <
EXTERIOR > o i
SEE NOTE 2 . 2
(TYP.) NS DATE: 3/10/22
1-1/4" MIN. ScAlE:  N.T.S.
NOTES: EMB. (TYP.) pwe. B:  RW
1. Sidelite assembly screws located 4" from each CHK. BY: LFS
end plus 4 more equally spaced along jamb (6 total). /g\ g1co)££le)olr2’;4rg ﬁgggg SECTION DRAWING NO.:
2. Mouiding secured w/ 16 GA. X 1" brad nails Outswing shown (Inswing similar) FL—-41467.12
located 1" from ends & 6" 0.c. max. o 9 o 13

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.12.dwg

© 2022 R.W. BuiLDING CONSULTANTS INGC.



TONG SANVLTINSNGOD 9NIQTHNg M 2202 @

€186 "ON Aisibey 3dgd SNOISIAZY

L6L6°6S9°'TLE ON SUoUd SNOILIOS X8 31vd_JON N
GBSEE 74 ‘OdHIDA ‘0£Z Xod "O'd § SS00 TWOILA3A vzl .3:_
‘ONI "SLNVLINSNOO ONIdTINg @u KIGNISSY 90 Lavd D W &
\a WWNO, L N 230
O Oyl7 . . d000 SSvI19y3dld sl ¥
SO i 89, ST SNOS % S3AILS S 18| Elg T |
R Lt VI : mm&mme
S :1ONA0¥d 513|888 5

(MRRN AN
il

INTERIOR

\\

m VERTICAL CROSS SECTION

W Outswing Threshold

A

®

EXTERIOR

{'dAL) "aw3
"NIW .7/ 1-1

INTERIOR

/" 2>\ VERTICAL CROSS SECTION

W Outswing Threshold

x o
5
5 R (§]
4 ..S:
(dAL) w3 __| it
. - )
NIW ¥/ 1-1 o Slo
o [ 4o}
] C ..m
@ 22
Ulo
& .m
il ..W £
b~
R M m
o a — ~
- .vn E m
o 2 (8
=
Ll
(3]
(7o)
o) a- ('dAL) “gWa
& © NIW ./ 1-1
%

A

/"1 "\ VERTICAL CROSS SECTION

W Inswing Threshold

INTERIOR

®

{"dAL) "awW3
NIW ./ 1-L

T oo

1. Anchor @ sill is not required for single door (X) only.

NOTE:

BMpZL L9vL-14\0202) L9¥Lp-T14\sBuImMeIq - D\SIIYAS ADNIDIY L9vLy-Td\sjerciddy 1onpoid BPLO - Y\UBURULIBd - SUOS pue S9AIS\SIUBIDNZ



wi1lliz,
% t

/]

HEAD & JAMBS
(TYP)

bt
fme.
b
u
-

i

(TYP.) \ L

2X BUCK

MASONRY (TYP.)

TON] SINVALTINSNOD aNIaTiing "M's 2202 @
€186 ON Ansibey 344 SNOISIATY
L616°6G9°CLY "ON suoyd i N
soscs 15 “emion ‘o5 00 03 ] ONIMOHONY %0Ng AH WO Glzle| = (9
"ONI ‘SINVAINSNOD ONITINg @ TBNISeY 90 [avd SIE|%|F|. ¢l
,ﬁﬁxﬁhzté N = g hy H_
RORNC VNO/o s, 80vSY "ON ‘I'd 4000 SSV191414 ML oTE| &g
Il/@ ...b@gw...&a \\\ IPILULDS "4 UOPUAT] SNOS % S3IAILS i ;1|2 &
h..&... " %~ 7 A8 peiodesd sjuswinoog :10NQa0dd -3 m 5 m %
.... 7T0T ‘L sunf
¥
" ‘ 60VEY 'ON W nMu
b - .
. Senaon e S pa
2, Q\zmow & <
%, SQIOM.: W m.w._
Hpn N Alvoaﬁn;.c
< (dAL) XYW
A&>.: .U.O :@—
| ﬁl ¥
| T 1 1 1 1
S i
2]
3 @)
> o x
e = O
(7]
: 1M = a
E e gl ] | | B
~r -nc‘ PR M - - TR . va..-
OSSR Hene o .
=
(@]
(%2]
=z
<
i
€
Z {dAL) "XvW
?;.c ‘0'0.91
jl 4 G
Ot i i 1 1 <
. =
2 o
<
N €I
€S ] x O
© z
» g \ Q N
<= B < S,
5 >
T g o
o7 >
] 1 I I ..-”. N
i R
- =
O
[%¢]
4
<
pe
!
ol e (dAl)
¥4 - L (dAL) XYW
(dAL) - D091
* R J _
t t t 1 1

X

BMpZL L9¥LY-14\0202) L9PLy-T4\sBuIMeIQ - D\SIIYAS ADNIDIY 29vLp-Td\sjerciddy 1onpoid epUOjd - V\IUBURULIRG - SUOS PUB SBARIS\SJUBID\Z



Z:A\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.12.dwg

1-1/2'LONG 16 GA. STAPLES & (2} #7 X 2 DRYWALL 3 »’r«- 4" (TYP.) TO BACK OF LOCK JAMB w/ (4) 1" e‘\« .
SCREWS @ HEAD & SILL (TYP.) —1 =~ e, ae) [~ T =——4MP) CROWN X 5/8" LONG 16 GA. STAPLES JQr a
— ) BN RS — . __ S8y 58
L e = Ity I I ] 8
. s — - e oM
! } (E TRANSOM ’L‘L“Eé_—ta —{E TRANSOM 4 EH == = —T AN g 8‘6 ©
ot L' - % -~ y O
— 2 1] | SEEHINGE T ’z,/“’; . zcg”
(29) e ? T omaL %5 T &y ™ & g ond
& £ TRANSOMTO .= @ (TYP.) Sw 54 “ W Zdep
TRANSOM TO 3 HEAD (L )2xBuck & 33 zs _ 3% 5 8%.%
HEAD (Tvp) - o % & E 8 & 8 9528
(TYP.) lXBUCK :’30 ] E(US o 80 e E% 500,
DIRECTTO DIRECT TO 28 % 5 2 T % 2 ~lE 8% 3024
- MASONRY —f| — — MASONRY —ll— . N L < N gl v foduw
HEAD & JAMBS HEAD & JAMBS F l R §
(TYP.) (TYP.) ? N 2 : oy
- =l - =T . K f 1 A5 &S
— O~ R o
T JE OF =2
- | Q= — —| 02 ® "
2 *Z f 0% | ¢f
FRAME =3 DOOR SILL = SEE LATCH & 58 | &L
(TYP.) (TYP.) % DEADBOLT STRIKE SEE MULTIPOINT LOCK o o
- - — Cillg K DETAIL STRIKE PLATE DETAIL 83 |5 Sw
, L ke (TYP) (TYP.) 03 |8 <
oE |8 wd
TRANSOMTO XO, OX HINGE JAMB/MULLION STRIKE JAMB/MULLION  STRIKE JAMB/MULLION o |9 g2
X HEAD MULLION , oursme / / & of ©g
@ (TYP.) g INSWING LATCH & DEADBOLT MULTIPOINT LOCK 2 ©
\ o)
INTEGRAL MULLION ATTACHED TO % (TYP) _ SDELTESILL \ & £
HEAD, SILL & TRANSOM w/ (3} T 1 ] ] T T 1 5 o (TYP) N\ @
#9 X 2-1/2" DRYWALL SCREWS ~_||__ \ - = ' DIRECTTO : ] @ &
S
{TYP.) “"‘:l l i\ 1 | ] — | 4 ~ TRANSOM DIRECTTO MASONRY 2X BUCK @
! MASONRY
— } N \ MASON 1X BUCK ﬁ@ X BUCK N
N B 2XBUCK (25) DIRECTTO i F\@
) g =T A 2X BUCK \ MASONRY ! 0
= (L)2xBuck - & @ZL Al o @ ROCKWELL MULTIPOINT LOCK HARDWARE ®
o 1X BUCK ol
A\ '
- DIRECTTO R | — v DIRECT TO
MASONRY
HEAD & JAMBS HINGE DETAIL MASONRY 20
e ) INSWING 1X BUCK e \
B T - 13
_ DIRECT TO 2XBUCK @ — L
OUTSWING 0 3 E 3 MASONRY —d 20 E
INSWING o — — 9 1X BUCK ‘
SIDELITE SILL =3 oX BUCK \ S
T ok—] s
(TYP.) \\l DO(TQ(E,?!LL i J] 2XBUCK(25 — 1 2X BUCK s baE: 3,/10/22
fowems * L ] & g ,
L LIl o Hle[— @ 1XBUCK \ 1X BUCK )\@ SOALE: N'Téi;
DIRECTTO \ DWe. BY:
KWIKSET HARDWARE SCHLAGE HARDWARE DRAWING NO.:
HINGE DETAIL FL—41467.12
FRAME ANCHORING SUTSWING HARDWARE DETAILS

SHEET 12 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.12.dwg

BILL OF MATERIALS
iTEM # | DESCRIPTION MATERIAL
A 1X BUCK (G >=0.42) WOOD
B 2X BUCK (G >=0.42) wOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
1 COMPOSITE JAMB COMP
3 COMPOSITE MULLION COMP/LVL
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4" X 4" HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC
18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2' PFH WOOD SCREW STEEL
21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
29 #10 X 2" PFH WOOD SCREW STEEL
34 MULTIPOINT LOCK STRIKE PLATE STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

&
4.5¢" o

1

1.44"

213"

COMPOSITE JAMB

WORLDWIDE "4EVER"

5.62"

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER
Columbia

wood screws fo prevent the splitting of wood.

SHEET 13 oF 13

‘
I ]_5" — - ¢/ ,’,
QL
05— == %o 8
» " w - 0
LT = 1)
LVL INSERT 8. 4=0"
1 v g’ < -5 ~
/(0.65' X2.7" &= . boamn
RS
»* ~, =
PSB85
='-Q '''''' D \\\\ a >- n Z
© $ W Zgwp
T & o - 8
= "‘6 O X 2 g‘
2 ? =z z 0w
Q B E o ~ M [
- g £o 8 . cw
£ ay 502f
Q= _'3 Doaon
f Kle v
’ 2 £ 3
o ocul
(3) oMeastE MLon sy
O x
23| 2
] =
2ol B2
2205 38
o SI=E W g
244" | N nEib oo
| | 2 L 329 3
o
L . g =
© =
| 7 S -
- [:’ & &
i .
B &
4.6 i
15 OUTSWING THRESHOLD
Columbia
8}
=z
Q
%)
ol
o
CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the comers may be adjusted to maintain the min. .
edge distance to mortar joints. 2
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to 0
maintain the min. edge distance to mortar joints, additional concrete anchors Lt g
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. 2 bt
. Concrete anchor table: o 3
EMBEDME! o
- . 0
TAPCON® 1/4" 1-1/4" scAlE:  N.T.S. s
DeWALT 1/4" . } . DWG. BY: RW @
utiracoNt| 1-1/4 ! 4 i o LFS |3
WOOD SCREW INSTALLATION NOTES: DRAWING NO.: e
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-41467.12 N
N
Q



